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TURN OVER 

                        [Time : 3 Hours] [ Marks : 100 ] 

Please check whether you have got the right question paper. 

N.B: 1. Working notes should from part of your answer. 
2. Proper presentation and neatness is essential. 
3. Use of simple calculator is allowed. 

 

1. A) Fill in the blanks Any Ten : 

 Trade mark is _______ asset. 

 Income earned from activities other than normal business is _______. 

 Cash received from sale of Machinery is a cash flow from _______ activities. 

 Standard Quick ratio is _______. 

 In _______ statement capital employed is considered equal to 100. 

 MVAT payable is a _______. 

 Positive working capital is excess of current assets over _______. 

 Computer software is a _______ fixed asset. 

 Margin of safety is _______ to net current assets to get working capital. 

 Net Profit Ratio is an indicator of _______. 

 Dividend paid should be shown as cash flow from _______ Activities. 

 In Trend Analysis earliest year is considered as _______ year. 

10 

    
1. B) State whether the following statements are True or False Any Ten : 

 Primary duty of an auditor is to detect errors and frauds. 

 In Error of Commission the transaction is not recorded at all. 

 Teaming and Lading is a method of temporary misappropriation of cash. 

 Audit Working Papers are the written records kept by the auditor. 

 Purchase invoice is the voucher for purchases. 

 Internal audit is a type of continuous audit. 

 Audit programme must be writing. 

 Documents of title of fixed assets need not be examined. 

 A voucher decided the authenticity of the transaction. 

 Auditing begins where accounting ends. 

 Written audit plan is called as Audit Note Book. 

 Audit Note Book is maintained by an auditor. 

7.5 
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2. The Balance Sheets of M/s Tiwari Ltd. are as follows : 
Balance Sheets 

Liabilities 2015 2016 Assets 2015 2016 

Equity Share Capital 6,00,000 8,00,000 Goodwill 2,30,000 1,80,000 

8% Redeemable 
Preference Share 
Capital 

3,00,000 2,00,000 Land and 
Building 

4,00,000 3,40,000 

General Reserve 80,000 1,40,000 Machinery 1,60,000 4,00,000 

Profit & Loss 60,000 96,000 Stock 1,54,000 2,18,000 

Sundry Creditors 1,10,000 1,66,000 Sundry 
Debtors 

3,20,000 4,00,000 

Bills Payable 40,000 32,000 Bills Receivable 40,000 60,000 

Provision for Income 
Tax 

80,000 1,00,000 Cash at Bank 20,000 16,000 

Proposed Dividend 84,000 1,00,000 Cash in Han 30,000 20,000 

Total 13,54,000 16,34,000 Total 13,54,000 16,34,000 

Additional Information :  
1) Depreciation of <20,000 and <40,000 have been charged on Machinery and Land 

& building respectively. 
2) An Interim Dividend of <40,000 has been paid in 2016. 

3) <70,000 Income Tax was paid during the year 2016. 

You are required to prepare Cash Flow Statement for the year ended 2016 in accordance 
with AS-3, using Indirect Method. 

15 

 OR  
2. A factory produces 64,000 units during the year and sells them for <50/- per unit. Cost 

structure of a product is as follows : 

Raw Materials 60% 

Labour 15% 

Overheads 10% 

 85% 

Profit 15% 

Selling Price 100% 

The following additional information is available : 
1. The activities of purchasing, producing and selling occur evenly throughout the 

year. 
2. Debtors get 2 months credit. 
3. Creditors allow 1 & ½ months credit. 
4. Time lag in payment of wages and overheads is ½ month. 
5. Cash and Bank balance is to be maintained at 10% of the working capital. 
6. Raw materials equivalent to 1 month's supply are stored in godown. 
7. The production process takes month. 
8. Finished goods equal to three month's production are carried in stock. 
9. Debtors are valued at selling price. 

You are required to prepare a statement of working capital requirements of the factory. 

15 
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3. Following is the Balance Sheet of Sun Ltd. as on 31st March, 2016 : 
Balance Sheet as on 31st March, 2016 

Liabilities < Assets < 

Equity Share Capital 2,00,000 Machinery 5,92,000 

10% Preference Share Capital 3,60,000 Investment 2,24,000 

General Reserve 1,40,000 Stock in Trade 2,02,000 

15% Debenture 2,40,000 Bills Receivable 40,000 

Trade Payable 2,44,000 Debtors 98,000 

Bank Overdraft 40,000 Cash & Bank 76,000 

Provision for Tax 36,000 Profit & Loss (Dr. Bal.) 28,000 

Total 12,60,000 Total 12,60,000 

 
Sales for the year is <14,00,000; Gross Profit Rate – 25% and Opening Stock is 

<2,18,000. Profit before Tax for the year ending is <4,20,000. 

From the above statement, you are required to calculate the following ratios : 
i) Current Ratio 

ii) Acid Test Ratio 
iii) Stock Turnover Ratio 
iv) Return on Capital Employed 
v) Debt Equity Ratio 

Note : Vertical Income Statement and Balance Sheet need not be prepared. 

15 

 OR  
3. Following is the Balance Sheets as on 31st December, 2014, 2015 and 2016. 

Liabilities 2014 2015 2016 Assets 2014 2015 2016 

Share 

Capital 

4,00,000 3,40,000 3,00,000 Fixed 

Assets 

4,00,000 3,60,000 2,80,000 

General 

Reserve 

1,00,000 1,00,000 1,00,000 Stock 1,60,000 1,50,000 1,35,000 

Secured 

Loan 

60,000 60,000 50,000 Debtors 2,00,000 1,60,000 1,40,000 

Unsecure

d Loan 

1,60,000 1,80,000 1,40,000 Loans & 

Advances 

1,00,000 80,000 60,000 

Creditors 1,60,000 90,000 45,000 Cash & 

Bank 

20,000 20,000 20,000 

Total 8,80,000 7,70,000 6,35,000 Total 8,80,000 7,70,000 6,35,000 

From the above information workout the Trend Percentages. 

15 

   
4. a) What is an Error? What are the different types of Errors? 7 

 b) What is a Fraud? What are the different types of Frauds? 8 

 OR  
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4. How would you vouch the following : 

a) Salaries and Wages 

b) Purchase Returns 

c) Credit Sales 

15 

   

5. A) What are the objectives of Auditing? 7 

 B) What are the Qualities of an Auditor? 8 

 OR  

5. How would you verify the following : 

a) Stock in Trade 

b) Secured Loans 

c) Accounts Receivable 

15 

   

6. A) What is a Ratio? What are the objectives of Ratio Analysis? 10 

 B) What are the different method of Audit Sampling? 10 

 OR  

6. A) Write short notes on Any Two : 

i) Comparative Financial Statement 

ii) Capital Gearing Ratio 

iii) Cash from Financing Activities 

10 

 B) Write short notes on Any Two : 

i) Audit working papers 

ii) Routing Checking 

iii) Objectives of Internal Control 

10 

 
_____________________ 
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                    ( ‘amR>r énm§Va ) 

                    (doi … 3 Vmg) 

  

 (JwU … 100) 

               gyMZm … 1. H¥$Vr Zm|XrMm Vw‘À¶m CÎmamV g‘mdoe H$am. 

2. ¶mo½¶ gmXarH$aU d ZrQ>ZoQ>Ho$nUm Amdí¶H$ Amho. 

3. gmYo JUH$¶§Ì dmnamdo. 

 
1. A) [aH$må¶m OmJm ^am (H$moUVohr Xhm) : 

 ì¶mnmar {MÝh (Trademark) __________ ‘mb‘Îmm Amho. 

 gm‘mÝ¶ ì¶mnma ì¶{V[a³V {‘imbobo CËnÞ __________ Amho. 

 g§¶§Ì (Machinery) {dH«$sVyZ {‘imbobr amoI hr __________ nmgyZ {‘imbobr amoI Amho. 

 à‘mU~Õ erK« AZwnmV hm __________ AgVmo. 

 __________ nÌH$m‘Ü¶o ^m§S>db Jw§VdUyH$ 100 ‘mZbr OmVo. 

 Xo¶ MVAT __________ Amho. 

 Mmby ‘mb‘Îmm dOm __________ = gH$mamË‘H$ IoiVo ^m§S>db. 

 g§JUH$ gm°âQ>doAg² ho __________  pñWa ‘mb‘Îmm Amho. 

 IoiVo ^m§S>db H$mT>VmZm ‘m{O©Z Am°’$ goâQ>r (Margin of Safety) (gwajm VaVyX) {Zìdi 
Mmby ‘mb‘Îmo‘Ü¶o __________ Ho$br OmVo. 

 {Zìdi Z’$m __________ Mm {ZXe©H$ Amho. 

 bm^m§e dmQ>n hm __________ {H«$¶oVrb amoI àdmh Amho. 

 H$bXe©H$ nÌH$m‘Ü¶o gd©àW‘__________  df© ‘mZbo OmVo. 

10 

    
 ~) Imbrbn¡H$s {dYmZo MyH$ H$s ~amo~a Vo {bhm (H$moUVohr Xhm) : 

 {heo~ VnmgUrMo à‘wI C{ÔîQ> MwH$m d A’$amV’$arMm emoY KoUo d Amim KmbUo 

 ZOa MwH$m§‘Ü¶o ì¶dhmamMr Zm|XM Ho$br OmV Zmhr. 

 Q>r‘tJ Am{U boqS>J (Teeming & Lading) ‘Ü¶o amoI aH$‘oMm VmËnwaVm Anhma Ho$bm OmVmo. 

 {heo~ VnmgUr H$mJXnÌo hr {heo~VnmgUrg (Auditor) Zo Ho$boë¶m boIr Zm|Xr hmo¶. 

 IaoXr BZdm°Bg (Invoice) / ~rOH$ ho IaoXrMo dmD$Ma (Voucher) Amho. 

 A§VJ©V {heo~ VnmgUr hm gVVMr {heo~ VnmgUrMm àH$ma Amho. 

 {heo~ VnmgUr H$m¶©H«$‘ boIrM Agbm nm{hOo. 

 pñWa ‘mb‘ÎmoÀ¶m H$m¶Xoer ‘mbH$s h¸$m§Mo H$mJXnÌo VnmgÊ¶mMr Amdí¶H$Vm Zmhr. 

 dmD$Ma (Voucher) EImÚm ì¶dhmamMm IaonUm Xe©{dVmo. 

 boImH$‘© (Accounting) g§nVo VoWo boImn[ajU (Auditing) gwé hmoVo. 

 boIr Am°{S>Q> ¶moOZog Am°{S>Q> / {heo~ VnmgUr Zm|Xdhr åhUVmV. 

 {heo~ VnmgUr Zm|Xdhr {heo~ VnmgUrg {bhrVmo. 

10 
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2. E‘²/Eg {Vdmar {b{‘Q>oS>Mo Vmio~§X Imbrbà‘mUo : 
Vmio~§X 

Xo¶Îmm 2015 2016 ‘mb‘Îmm 2015 2016 
gm‘mÝ¶ ^mJ ^m§S>db 6,00,000 8,00,000 Zmdbm¡{H$H$ 2,30,000 1,80,000 
8% AJ«h¸$ ^mJ 
^m§S>db 

3,00,000 2,00,000 O‘rZ d B‘maV 4,00,000 3,40,000 

gm‘mÝ¶ {ZYr 80,000 1,40,000 g§¶§Ì 1,60,000 4,00,000 
Z’$m-VmoQ>m ImVo 60,000 96,000 ‘mbgmR>m 1,54,000 2,18,000 

{d{dY YZH$mo 1,10,000 1,66,000 {d{dY F$UH$mo 3,20,000 4,00,000 

Xo¶ hþ§S>r 40,000 32,000 àmßV hþ§S>r 40,000 60,000 
H$amgmR>r VaVwX 80,000 1,00,000 amoI {e„H$ 20,000 16,000 
àñVm{dV bm^m§e 84,000 1,00,000 ~±H$ {e„H$ 30,000 20,000 

EHy$U 13,54,000 16,34,000 EHy$U 13,54,000 16,34,000 

BVa ‘m{hVr :  
1) g§¶§Ìmda <20,000 d O‘rZ d B‘maVrda <40,000 ¶mà‘mUo Kgmam AmH$maÊ¶mV Ambm 

Amho. 
2) h§Jm‘r bm^m§e <40,000 2016 ‘Ü¶o {Xbm. 
3) 2016 gmbr ^abobm Am¶H$a <70,000. 

2016 gmR>r E.Eg.3 à‘mUo (AàË¶j nÕVrZo) amoI àdmh nÌH$ V¶ma H$am. 

15 

 qH$dm  
2. EH$ H$maImZm 64,000 ZJ df©^am‘Ü¶o {Z‘m©U H$aVmo d <50 à{V ZJ à‘mUo {dH$Vmo. EH$m dñVwMo 

n[aì¶¶ nÌH$ Imbrbà‘mUo : 
H$ÀMm ‘mb 60% 
‘Oyar 15% 
Cnar n[aì¶¶ 10% 
 85% 
Z’$m 15% 
{dH«$r ‘yë¶ 100% 

AÝ¶ ‘m{hVr : 
1) IaoXr, {Z{‘©Vr d {dH«$s df©̂ a g‘à‘mUmV Agob. 
2) J«mhH$m§Zm 2 ‘{hÝ¶m§Mr CYmar {Xbr OmVo. 
3) YZH$mo 11/2 ‘{hÝ¶m§Mr CYmar XoVmV. 
4) ‘Oyar d Cnar n[aì¶¶ 1/2 ‘{hÝ¶m§À¶m A§VamZo {Xbo OmVo. 
5) amoI / ~±H$ {e„H$ IoiË¶m ^m§S>dbmÀ¶m 10% Agmdm. 
6) H$ÀMm ‘mb 1 ‘{hÝ¶mMm Amho. 
7) {Z‘m©U à{H«$¶oMm H$mbmdYr 1 ‘{hZm Amho. 
8) V¶ma ‘mbgmR>m 3 ‘{hÝ¶mMm Amho. 
9) F$UH$mo {dH«$sda H$mT>mdo. 

H$maImÝ¶mZo A§Xm{OV IoiVo ^m§S>db nÌH$ V¶ma H$ams. 

15 
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3. Imbrb 31 ‘mM©, 2016 Mm Vmio~§X {Xbm Amho … 
Vmio~§X 31 ‘mM©, 2016 

Xo¶Îmm < ‘mb‘Îmm < 

gm‘mÝ¶ ^mJ ^m§S>db 2,00,000 g§¶§Ì 5,92,000 

10% AJ«h¸$ ^mJ ^m§S>db 3,60,000 Jw§VdUyH$ 2,24,000 

gm‘mÝ¶ {ZYr 1,40,000 ‘mbgmR>m 2,02,000 

15% H$O© amoIo 2,40,000 ¶oUo hþ§S>çm 40,000 

YZH$mo 2,44,000 F$UH$mo 98,000 

~±H$ A{YH$f© 40,000 amoI d ~±H$ 76,000 

Am¶H$a VaVyX 36,000 Z’$m d VmoQ>m ImVo 28,000 

EHy$U 12,60,000 EHy$U 12,60,000 

 
dm{f©H$ {dH«$s <14,00,000; T>mo~i Z’$m - 25%, Ama§^rMm ‘mbgmR>m <2,18,000. H$anyd© 
{Zìdi Z’$m <4,20,000. 
Imbrb AZwnmV H$mT>m : 
1) Mmby AZwnmV 
2) Vab AZwnmV 
3) ‘mbgmR>m CbmT>mb AZwnmV 
4) g§nÎmr Jw§VdUyH$sdarb naVmdm 
5) H$O© ^m§S>db AZwnmV 

gyMZm : Cä¶m ñdénmVrb nÌH$ Ano{jV Zmhr. 

15 

 qH$dm  
3. 31 {S>g|~a 2014, 2015 d 2016 Mo Vmio~§X … 

Xo¶Îmm 2014 2015 2016 ‘mb‘Îmm 2014 2015 2016 

^mJ 
^m§S>db 

4,00,000 3,40,000 3,00,000 pñWa 
‘mb‘Îmm 

4,00,000 3,60,000 2,80,000 

gm‘mÝ¶ 
{ZYr 

1,00,000 1,00,000 1,00,000 ‘mbgmR>m 1,60,000 1,50,000 1,35,000 

VmaU H$O© 60,000 60,000 50,000 F$UH$mo 2,00,000 1,60,000 1,40,000 

AVmaU 
H$O© 

1,60,000 1,80,000 1,40,000 H$O© d 
A{J«‘ 

1,00,000 80,000 60,000 

YZH$mo 1,60,000 90,000 45,000 amoI / 
~±H$ 

20,000 20,000 20,000 

EHy$U 8,80,000 7,70,000 6,35,000 EHy$U 8,80,000 7,70,000 6,35,000 

darb ‘m{hVrZwgma H$bXe©H$ nÌH$ ~Z{dUo. 

15 
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4. A) MwH$m åhUOo H$m¶? MwH$m§Mo {d{dY àH$ma gm§Jm. 7 

 ~) A’$amV’$a åhUOo H$m¶? A’$amV’$atMo {d{dY àH$ma gm§Jm. 8 

 qH$dm  

4. Imbrb JmoîQ>tMo à‘mUZ H$go H$amb? 15 

 A) nJma  

 ~) IaoXr naV  

 H$) CYma {dH«$s  

   

5. A) {heo~ VnmgUrMo C{ÔîQ>ço H$moUVr? 7 

 ~) {heo~ VnmgUrgmMo JwU H$moUVo? 8 

 qH$dm  

5. Imbrb JmoîQ>tMo gË¶mnZ H$go H$amb? 15 

 A) ‘mbgmR>m  

 ~) VmaU H$O©  

 H$) ¶oUr ImVo  

   

6. A) AZwnmV åhUOo H$m¶? Ë¶m§Mr C[ÔîQ>ço H$moUVr? 10 

 ~) {heo~ VnmgUrÀ¶m Z‘wÝ¶m§À¶m {d{dY nÕVr H$moUË¶m? 10 

 qH$dm  

6. A) Imbrbn¡H$s H$moUË¶mhr XmoZda WmoS>³¶mV Q>rnm {bhm : 

1) VwbZmË‘H$ {dÎmr¶ nÌH$ 
2) nw§Or à‘mU AZwnmV 
3) Am{W©H$ {H«$¶m§nmgyZMr amoI 

10 

    

 ~) Imbrbn¡H$s H$moUË¶mhr XmoZda WmoS>³¶mV Q>rnm {bhm : 

1) {heo~ VnmgUrMo H$mJXnÌo 
2) Z¡{‘{ÎmH$ VnmgUr 
3) A§VJ©V {Z¶§ÌUmMr C{ÔîQ>ço 

10 

 

_____________________ 


